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Question 1 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Sarsh found 3 plant in the garden and measured its height. Aftar tvo wesahz, she
mipasured its height again,

s

|F|_'"I"|'I |

A b star ASteT o wesks

Froen hat obsenation, Samah concluded that the plant s a Eving Thing becausa it can

v A) grow
B) breathe
C) respond

D) reproduce

Question Type: Multiple Choice
Randomize Answers: No
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Last Modified: N/A
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Qu estion 2 Primary 4 Science » Primary 4 Science (Term 4)
Which one of the following shows the correct order when food moves through some parts of the
digestive system?
A)
%
h large small
stomac intestine intestine
v B)
- -
stomach el
intestine
C)
h
large Stomac small
intastine intestine
D)
> e
small large stomach
intestine intestine
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,330,199
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Question 3

v A) beetle
B) chicken
C) cockroach

D) grasshopper

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 4

A) egg
v B) seed
C) adult plant

D) young plant

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Which animal has a pupa as a stage in its life cycle?

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,330,202

What is the stage marked X7

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,330,209
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The diagram below shows the life cycle of a plant.
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Question 5

A) soll
B) food
v C) water

D) sunlight

Question Type:

Date Added:
Last Modified:
QID#:

Question 6

B)
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rools — elam — [Baves

Randomize Answers:

Whial |z fnis. substanca?

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,330,214

Which one of the following objects is not made of waterproof material?

» metal spoon

Primary 4 Science » Primary 4 Science (Term 4)

The arrows | —3 ) in the diagraim below show the direction of movemant of 2
guEnaianos in planie
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‘glass window

?  plastic umbrella

”P toilet paper

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 6th Jul 2021
Last Modified: N/A

QID#: 28,330,228
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Question 7
In which one of the following will the two magnets push each other away?
A)
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v

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,330,290

S N |
B)
N S
S
N
o)
S N S
D)
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The sat-up below shows light shining on a wooden block.

1 =

tarch woodan block SCraen

Which one of the fellowing would likely be seen on the screan?

A)
v B)
C)
I —=
i
D)
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Question 9

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,330,356

Which one of the following is not a source of heat?

A) The Sun
v B) A blanket
C) Alighted bulb

D) A candle flame

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 10

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,330,361
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Hashim boiled somea water in the kettle as shown balow,
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plastlc handiz

He is ahla to hold the keitie of boiling water using the plastic handle. This is

because plastc is-a

A) light material
B) flexible material
¥" C) poor conductor of heat

D) good conductor of heat

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 6th Jul 2021
Last Modified: N/A

QID#: 28,330,369

Question 11

Primary 4 Science » Primary 4 Science (Term 4)

Study tha table below,
Characteristic of animal Y Z
Has hair
Lays eggs v ¥
Has wings
Has molst skin v

Which one of the following i an amphibian?

A) W
B) X
v C) Y
D) Z
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Question Type:

Multiple Choice

ClassMarker - Manage Test

A)

B)

C)

v D)

Question Type:
Randomize Answers: No

Living
Things

=y

Randomize Answers: No
Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,330,373
Question 12
Study the classificailon chart balow.

Primary 4 Science » Primary 4 Science (Term 4)

S-otaga
life cycle

wWhich of the following best describes X, ¥ and Z7

X

Y |Z

reproduce by seeds

frog

cockraoch

X

Y Z

reproduce by spores

butterfly

chicken

X

Y

reproduce by spores

cockroach

frog

X

Y 4

reproduce by seeds

chicken

butterfly

Question 13

Multiple Choice

Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,330,383

4-stage
Iifa cycle

=
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Question 14

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 15

How is an adult cockroach and its young similar?

A) They can lay eggs.
B) They have eight legs.
C) They have a pair of wings.

v' D) They have three body parts.

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,330,395

A) Stage A represents the adult stage.
B) The mosquito can only fly in stage B.
v" C) The mosquito does not feed in stage B.

D) Only stages B and C are spent in water.

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,330,408
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Tha diagram below shows the stages In the life cycle of the mosguite.
"
B
R/

Which one of the following staterrent Is true’?

Primary 4 Science » Primary 4 Science (Term 4)
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Amin observed arganisms, E and F, over & perod of time and recorded his findings

in the table bedow,
Chsarvation E F
It has a I-stage life cyale, b Yas
iz young resemilas tha adult, M Yea
i spands pad of #s He cycle in waler, Yes Mo

A) |g

F

chicken | cockroach

B) |g

F

butterfly | grasshopper

VO e |F
frog | cockroach
D) | |F
frog | mealworm beetle

QID#:

Question Type:
Randomize Answers: No
Date Added:
Last Modified: N/A
28,334,613

Question 16

Muiltiple Choice

Tue 6th Jul 2021

Which one of the following comeclly represents arganisms E and F7

Primary 4 Science » Primary 4 Science (Term 4)
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Study the flow chart below.
Animal
No
mosguito
Yes
Mo
chicken
Yes
cockroach
Which of the following statements comectly represents A and B?
A) A B
Does it give birth to its young? | Does its young resemble the adult?
B) A B
Does it live in water? | Does it give birth to its young?
v C) A B
Does it have a 3-stage life cycle? | Does it have six legs?
D) A B
Does it have a 4-stage life cycle? | Does it live on land?
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,334,646
Question 17
In which of the following stages can the plant reproduce?
A)
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B)
v C)
D)

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,334,685
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Question 18

v" A) presence of air
B) amount of water
C) presence of light

D) number of seeds

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 19

Muiltiple Choice
No

Tue 6th Jul 2021
N/A

28,334,704
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Man carded out an experiment as shown Delow,

lidd
& !l—'-—.___l_‘_ —
i &
£ 0w W | substance o
_,-r'I: i_:,é absorb alr
muoisk coflan
WOk
The aim of the experiment s io find out if the affsctz tha
gemination of the sasds.

Primary 4 Science » Primary 4 Science (Term 4)
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Alex prepared wwo ssb-ups, X and Y, as shown below,

gira of Infleted
_ ballosn
infiabed facieased
talioon tightly
i afber @ o diyn
seeds on
ronfs a ared
maisl Saion b
wisal
w
gize of miated
— paloon
mfabed
remalrlm the
baltoom Hghthy
segled -
.'-|E||:|' i few days
sl eothon
wosd

Tha sizé af the balloon for sel-up X decressed. Which one of the lollowing = &
poEsibla reason’?

v" A) Air was taken in by the seeds.
B) Air was produced by the seeds.
C) Air was taken in by the moist cotton wool.

D) Air was produced by the moist cotton wool.

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,334,739
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The table below shows the proparties of materials A, B, C and D.
A tick {~) indicates thal the material has the propery.

Property
Material
Strong Flaxible Waterproof
A v v
B *" o
G W
(5] v . v

A) A
B) B
c) cC
v'D) D

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 21

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,334,762

Which rraterial, A, B, C or D, would you usa fo make a raincoat?
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Hanry mada a fishing game using the objects shown bebow.

fishing rod R fishing rod Q

R Q
bar —|- —— bar

—_—

The kower end of bar R and G are used to catch foy fish A, B and C.

n bhas magnei
.
®)
28
fizh B fish C

Rod R could catch fish A and B only. Rod Q could catch flah A and C only,

Which of the folowing shows the bars for rods R and Q7

A) T {ll
| magnetic
N / material
S
B) R ﬂ
magnetic | —J—
material S
N
C)

https://www.classmarker.com/a/tests/test/?test_id=1777032&trk=edittest_inrow_edit
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w Z}l—x
w Z_ﬂ

D)
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,334,810
Question 22 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

The pictures balow shows 1 kg of cotion and 1 kg of rica.

1 kg of cotton 1 tg of rlca

Vuhich one of the following ks troe about the companson of the mass and volume
of the cotton and rice

A) |Mass | Volume

same [ same

B) Mass Volume

different | same

1T 1
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C)

v D)

v A)

B)

C)

D)

Question Type:
Randomize Answers: No

Mass Volume

different | different

Mass | Volume

same | different

Multiple Choice

Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,334,832

Question 23
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Ally camied oul an experiment, as shown balow, using two syringes, X and Y. Each
syTing= contained matier of different slates, The extemal part of (he syringes werne

wrapped in gray paper

syringe X syringa ¥
She pushed both plungers downwards and recorded the haights of i in the table
bl
Helght of i {om)
Byrings At the beginning At the and
X B 5
I 8 8

Which ane of the following cormeclly describes the stata of ihe subslance

cantained In syringe X and Y7

state of substance in syringe X

state of substance in syringe Y

gas

liquid

state of substance in syringe X

state of substance in syringe Y

liquid

solid

state of substance in syringe X

state of substance in syringe Y

gas

gas

state of substance in syringe X

state of substance in syringe Y

liquid

gas
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 24

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,334,854

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 4)

A torch was shone on three chjects hanging by strings as shown in he diagram

bl

forch

slzings

L

ball

mirror

sCraeEn

Which one of The following ehadows will mest Buaely be formed on the screen’

A)

B)
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v C)
Lot o st g ol e end
D)
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,334,876
Question 25 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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The diagram below shows & set-up that uses a light sensor bo count the numbes
of enlizal object X moving on 2 ball in a room with lights.

%— light sermer connectad to a
reoving balt w  Counter

% QS Bght eource
cibjects X

The belt moves al a constanl speed, When an object X is betwesn tha light
gource and the sensor, it blocks some light from reaching the sensor.

Which graph comectly shows tha data mcorded by the light sansar?
A) T.

Amount
of light

.
Time (min)

Amount
of light

Time (min)

v C)
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Amount
of light

D)

Armount
of light

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 26

ClassMarker - Manage Test

-

Time (min)

Multiple Choice
No

Tue 6th Jul 2021
N/A

28,334,914

Time (min)

Primary 4 Science » Primary 4 Science (Term 4)
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Some pupils are preparing for a shadow puppet performance. They sel up the
stage as shown In the dagram below.

SCMA——p—

The pupils then made a few more shadow puppets by using differeni matarials.

Which ona of the puppe! Is the least suifable for the show?

A) A puppet made of cardboard.
B) A puppet made of tracing paper.
C) A puppet made of drawing block.

v' D) A puppet made of clear plastic sheet.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 6th Jul 2021

Last Modified: N/A

QID#: 28,334,921
Question 27 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

A tes! tube containing some red-coloured water at 80°C was placed info a conieal
flask containing same tap water and joe as shown balow. The sel-up was leht

overnight in & ream whare the lampemaiur was 25°C,

Which of the following corractly shows the emperature of the 1ap walar and rag-
cotoursd waler the nexd day?

A)

Temperature of the tap water (°C) | Temperature of the red-coloured water (°C)
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54 54

B) Temperature of the tap water (°C) | Temperature of the red-coloured water (°C)
15 26
) Temperature of the tap water (°C) | Temperature of the red-coloured water (°C)
26 80
v’ D) Temperature of the tap water (°C) | Temperature of the red-coloured water (°C)
26 26
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,334,953
Question 28 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Mr Muthu prepared his “teh tarik’ {pulled tea) by pouring the tea from a melal
conteiner to another metal containar rapaatedly s shown in the diagram below.

matal containar

Ha poured {he tea beck and forth repeatedly betasen the two metal containars
from @& height bo enaure that the tea i not too hot for the customens {o drink.

Sally, Vicky and Joy, sach made a statamant en why the tea i not too hot.

Sally Coldness from the surraunding akr traveds to e hol fea.
Wicky The hof tea will Iose heat faster to the sumoending air,
Jowy Mata! containars condushed the heat away from the hot 1ea.

Which af the above children's statemant{s) ifare correcd?

A) Vicky only
v’ B) Vicky and Joy only

C) Joy and Sally only
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D) Sally, Vicky and Joy

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 6th Jul 2021
Last Modified: N/A

QID#: 28,334,967

Question 29

Study the diagram and fill in the blanks.

The caterpillar needs food, and air to stay alive.

Accepted answers:

v Water

Question Type: Free Text

Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,334,980

Question 30

Study the diagram and fill in the blanks.

The caterpillar eats leaves and becomes longer after some time.
This shows that it can

Accepted answers:

v Grow

https://www.classmarker.com/a/tests/test/?test_id=1777032&trk=edittest_inrow_edit
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Question Type: Free Text

Date Added: Tue 6th Jul 2021

Last Modified: N/A

QID#: 28,334,992

Qu estion 31 Primary 4 Science » Primary 4 Science (Term 4) 3 pts

The diagram below shows the young and adult of some organisms.
Match the young with the correct adult.

Clue Match
o8 ﬂﬂ‘,!ﬂﬂﬂﬂﬁr
=1
Points: +1 =0

Points: +1 =0

Points: +1 =0

Incorrect match option

https://www.classmarker.com/a/tests/test/?test_id=1777032&trk=edittest_inrow_edit 28/49


https://www.classmarker.com/a/tests/qb/manage/?test_id=1777032&question_id=28334992
https://www.classmarker.com/a/tests/qb/manage/?test_id=1777032&question_id=28334992&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1777032
http://drive.google.com/uc?export=view&id=1yzLDh-K2W80igy3_3uTvzcHd3b1aR1aq
http://drive.google.com/uc?export=view&id=1KXaxq07wSzriQzy1OJpH5jNxYg8K52TD
http://drive.google.com/uc?export=view&id=1uuIgGLjSFmguGYhsu9F673hkeGcbJsO9
http://drive.google.com/uc?export=view&id=1pRCZc2kErCMCJbNqbw-4TC_uuYnJiYM7
http://drive.google.com/uc?export=view&id=1RHvwalg5uhwA17Wla-9--l2ZDTek0neQ
http://drive.google.com/uc?export=view&id=1AXSAH6HDRF8tnlARSJDOYJXkOphul_7w

8/6/2021

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Tue 6th Jul 2021
Last Modified: N/A
QID#: 28,335,066

Question 32

Classify the following into matter and non-matter.

Clue

Shadow

Points: +1 =0

Sugar

Points: +1 =0

Heat

Points: +1 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,595

Question 33

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 4)

Match

Non-Matter

Matter

Non-Matter

Primary 4 Science » Primary 4 Science (Term 4)
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The diagrarm balow shows how Mary seas the cup.

lamp

cup

The ~ from tha lamg s _ by thacup and

anters Mary's eye. [2]

Accepted answers:
v light, reflected
¥ Light and Reflected
v Light/reflected
v Light / reflected

v light/relfected

Question Type: Free Text

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,627

Correctly answered feedback
The light from the lamp is reflected by the cup and enters Mary's eye.

Incorrectly answered feedback
The light from the lamp is reflected by the cup and enters Mary's eye.

Question 34 Primary 4 Science » Primary 4 Science (Term 4) 0.5 pts
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The diagram below shows tha hurnan skeletal system.

Identify the parts, A and B, in the boxas below.

(1

Part A

Part B:

Part C: backbana

Identify Part A.

Accepted answers:

v Skull

Question Type: Free Text

Date Added: Wed 7th Jul 2021
Last Modified: Wed 7th Jul 2021
QID#: 28,342,645

Question 35

The disgram below shows the human skeletal systam.

Idantify the parts, A and B, in the boxas below.

Primary 4 Science » Primary 4 Science (Term 4)

(1

Part A

Part B:

Part C: backbone

Identify Part B.

Accepted answers:

) cage

https://www.classmarker.com/a/tests/test/?test_id=1777032&trk=edittest_inrow_edit
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Question Type: Free Text

Date Added: Wed 7th Jul 2021

Last Modified: N/A

QID#: 28,342,650
Question 36 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

The diagram below shows the human skeletal systam.

Identify the parts, A and B, in the boxes below, [

Part A

Part B:

Part C: backbone

State a function of part A. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,658

Correctly answered feedback
Part A protects the brain.

Incorrectly answered feedback
Part A protects the brain.

Question 37 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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The diagram balow shows plant X

X

Jenny learmt the funcions of the plant system and states that the stem of plant
¥ has & similar function as part G of the human Mﬁaﬂhﬂ.ﬂuwuqmﬁi

Explain your answer.

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,666

Correctly answered feedback
Yes, the backbone supports the body just like the steam keep the plant upright.

Incorrectly answered feedback
Yes, the backbone supports the body just like the steam keep the plant upright.

Question 38 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

The table below shows the stages in the ife cycle of insecis, A and B, and the
nurmber of days they remain in each stage.

Stage In life cycle of Insect A 6gg larva pupa | adult

| Number of days 1 5 12 10

Stage In life cycle of Insect B -1 ] larva plpa adult

Mumber of days 1 3 3 2

Predict the stage of insect A on the 10t day of their life cycles after the eggs are laid.

Insect A:

Accepted answers:

v’ pupa

Question Type: Free Text
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Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,685

Question 39

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 4)

The table below shows the stages in the ifa cycle of imsecs, A and B, and the
nurmber of days they remain in each stage.

Stage In life cyela of Insect A egg larva pupa adult
Number of days 1 5 12 10

i
Stage In life cycle of Insect B l 290 larva pupa adult
Number of days | i 3 5 2

Insect B:

Accepted answers:

v adult

Question Type: Free Text

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,699

Question 40

Predict the stage of insect B on the 10t day of their life cycles after the eggs are laid.

Primary 4 Science » Primary 4 Science (Term 4)

The table below shows the stages in the ifa cycle of imsecs, A and B, and the
number of days they remain in each stage.

Stage In life cyela of Insect A egg larva pupa adult
Mumber of days 1 5 12 10
Stage In life cycle of Insect B 20 larva pupa adult
Mumber of days 1 3 5 12

Both insects reproduce by laying many eggs.

Explain why the insects lay many eggs. (1 mark)

https://www.classmarker.com/a/tests/test/?test_id=1777032&trk=edittest_inrow_edit

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,712

Correctly answered feedback

Some of the insects eggs will be eaten by predators while the rest will live to adulthood to
reproduce.

Incorrectly answered feedback

Some of the insects eggs will be eaten by predators while the rest will live to adulthood to
reproduce.

Question 41 Primary 4 Science » Primary 4 Science (Term 4)

Draw and label the life cycle of the grasshopper below. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,764

Correctly answered feedback

Eag
Mg
ynph

1’\

adot

Incorrectly answered feedback

Exg
Mg
nynph

oot <

Question 42 Primary 4 Science » Primary 4 Science (Term 4)

State a similarity and difference between the adult grasshopper and its young. (2 marks)
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,771

Correctly answered feedback
Similarity: Both have 6 legs.

Difference: The young has no wings but the adult has wings.

Incorrectly answered feedback
Similarity: Both have 6 legs.

Difference: The young has no wings but the adult has wings.

Question 43 Primary 4 Science » Primary 4 Science (Term 4) O pts

Explain why the life cycle is important to the grasshopper. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,777

Correctly answered feedback
The grasshopper needs to make of it's continuity of it's own kind.

Incorrectly answered feedback
The grasshopper needs to make of it's continuity of it's own kind.

Question 44 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Ken planted the seed of a flowering plant and obsersed s growth, He
mesaurad the haight of the young plant over a period of time ag shown in the

fable beslow .
Time {week) | Heaight of the plant {cm)
i 1]
1 ]
2 B
3 20
4 )
S 1 R - S

State the two processes that the seed undergoes to become a young plant.
The first letter of the two processes has been given. (2 marks)

Process 1: G
Process 2: G

Accepted answers:
¥’ Germination and grow
v grow and germination
¥’ Germination, Grow
¥’ grow, germination
¥" Germination / Grow

v grow / germination

Question Type: Free Text

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,921
Question 45 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Ken planted the seed of a flowering plant and obsersed s growth, He

messured the height of the young plant over a period of time as shown in the
table bedow, §

Time {week) | Height of the plant {cm)

LR B =]

The graph below shows height of the plant ower a period of tmea.

Labet {f) and (7) clearly In the graph below. 2]

n

L'

i)

il)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,934

Correctly answered feedback
i) Height
ii) Time (week)

Incorrectly answered feedback
i) Height
ii) Time (week)

Question 46 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Andy wanted to find out I the amount of ight affected the germination of the
seeds. He set up a confainer as shown below.

containar {}D{J_"}

'C‘-'J@/_‘,U sved

Ha thres similar containers, E, F and &, in the Sclencea laboratory and
recorded the information in the table shown below.
Amaunt of water added
Container | Amount of light {lux) to containar {mi)
E a500 50
[ F 100 20
G 100 B0

Which two containers, E, F and G should Andy use to carry out his experiment? Explain your answer.
(2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,948

Correctly answered feedback

E and G as Andy are finding if the amount of light will affect germination and E and G have different
amount of light and some amount of water as the question did not say about different amount of
water.

Incorrectly answered feedback

E and G as Andy are finding if the amount of light will affect germination and E and G have different
amount of light and some amount of water as the question did not say about different amount of
water.

Qu estion 47 Primary 4 Science » Primary 4 Science (Term 4)

https://www.classmarker.com/a/tests/test/?test_id=1777032&trk=edittest_inrow_edit

0 pts

39/49


http://drive.google.com/uc?export=view&id=1zPHGeddSO9t4vDsRdtoLd6JYD7mSI4Oy
https://www.classmarker.com/a/tests/qb/manage/?test_id=1777032&question_id=28342948
https://www.classmarker.com/a/tests/qb/manage/?test_id=1777032&question_id=28342948&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1777032

8/6/2021

ClassMarker - Manage Test

Andy ocbsarved another two containers, K and L, for & fow weeks, Ha noticed that
the plants in container L wene smallar it size than the plants In containgr K as
shown in the ssf-up balow.

E |

YY¥ oy

light scumce:
contalmer K container L

Based on the set-up above, state why the plants in L were smaller in size. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,958

Correctly answered feedback
L has smaller plants because the leaves receive less light than K to make food for the plants.

Incorrectly answered feedback
L has smaller plants because the leaves receive less light than K to make food for the plants.

Qu estion 48 Primary 4 Science » Primary 4 Science (Term 4)

Andy obsanad another two containers, K and L, for & few weeks, He noticad that
ihe plants in container L were smallar i size than the plants in container K as
shown in the sst-up balow.

E =

22

fight scurce
container K container L

What could Andy do to the set-up to ensure that all the plants in containers K and L were similar in
size? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,967

Correctly answered feedback
Put the light source in the middle of container K and L.

Incorrectly answered feedback
Put the light source in the middle of container K and L.

Question 49 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Sally placed a packet of coffee Into a cup without overflowing as shown befow.

a packat et
of coffes

Identify the state of matter for the coffee.

Accepted answers:

v’ Liquid

Question Type: Free Text

Date Added: Wed 7th Jul 2021

Last Modified: N/A

QID#: 28,342,975
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Sallyﬂmdapmmﬂmﬁmmampmmmﬂmﬂmingumm.

a packst ——
of coffes
cup

Look at the statement below. Choose either True or False.

The shape of the coffee changed.

v A) True

B) False

Question Type: True False

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,983

Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Question 51

Eallyphmdapmhdnfmﬁwﬂnamp%mﬁﬂmﬂﬂhingﬂmm.

a packet SR STURI
of coffes
cup

Look at the statement below. Choose either True or False.

The volume of the coffee changed.

A) True
v' B) False

Question Type: True False

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,342,988
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Question 52 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Andrea made a cup of hot mila. However, it was too hot to drink. She added
some tap waler into the cup,

hiot milo

Choose the correct answer to show whether there was heat gain or heat loss in each item.

Clue Match
Hot Milo Heat Loss
Points: +1 =0

Tap Water Heat Gain

Points: +1 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Wed 7th Jul 2021

Last Modified: N/A

QID#: 28,343,005
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Andrea made a cup of hot milo. However, it was too hot o drink. She added
some tap waler into the cup,

hiot milo

Andrea could not open e boftie of jam so she dipped the metal cap of the
bottle nbo hot water for a minute as shown in the diagram,

Ak
SRR W s e

Bhe was than abla to open the botlle of jam using this mathod.

Explain why Andrea was able to open the boitla of jam 2]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,343,014

Correctly answered feedback
In the hot water the metal cap will gain heat and expand allowing Andrea to open the bottle of jam.

Incorrectly answered feedback
In the hot water the metal cap will gain heat and expand allowing Andrea to open the bottle of jam.

Question 54 Primary 4 Science » Primary 4 Science (Term 4)
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Le= Han carmed ouf an experment as shown below bo find out which material
is a beltar conductor of heat,

Complete the table to show how Lee Han should carry out his experiment.
Match the numbers 2 to 5 provided in the list to the steps on the left. The first step has been done for
you.

Step Procedure

Sthek the flat end of the nadl to the end of the rod wsing the
sama amiount of wae

Using a stopwatch, measure how long it takes for each of
the nalls to fall off.

Hang the rod using the string over the bunsen burner.

Record the results.

Light the bunsen burner.

Clue Match

Using a stopwatch, measure how long it 4
takes for each of the nails to fall off.

Points: +0.5 =0

Hang the rod using the string over the 2
bunsen burner.

Points: +0.5 =0

Record the results. 5
Points: +0.5 =0

Light the bunsen burner. 3
Points: +0.5 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,343,079
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Les Han carmed ouf an experment as shown below bo find out which material
is a better conduchor of feal,

Lee Han recorded the lime taken for the nails to drog off from the red in the

tasbla below.
Matarial Nail Time taken for sach nail
_ to drap off (min)
X A 2
¥ B g

He wanted to find out which material is the best to make (nto 8 coaster. The
purpose of the coaster is 10 prevent the table from being damaged by heat,

%5

[ — coaster

Basad on the resuls from the lable, which material, X or Y, is the belber choice
for making the coaster? Explain yous answer, [2]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,343,107

Correctly answered feedback
Y, it took a longer time than X to drop off and will prevent the table from being damaged by heat, it
is a poorer conductor of heat.

Incorrectly answered feedback
Y, it took a longer time than X to drop off and will prevent the table from being damaged by heat, it
is a poorer conductor of heat.
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Paiul collecied some water samples from two ponds, A and B. He wanled o find
out which pond has more polluted wader, Poliuled waler contains rmore

unwanted particles. Walsr sample C contained clear wabsr,

He camed out the experimant in a dark room. Ha then used threo identical
{orches to shine through the water samples. The reading of the amauwnt of fight
passing through was recorded using a light sensor.

The rezusts wam shown i the tabla balow,

Water samples A B c
Amount of light that 710 537 {0
passed through {ux)

Which one of the water samples, A or B, was more polluted? Give a reason. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,343,125

Correctly answered feedback
B, it allows less light to pass through.

Incorrectly answered feedback
B, it allows less light to pass through.
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Paul collecied some water samples from two ponds, A and B, Ha wanied fo find
out which pond has more polluted wader, Poliuled waler contains rmore

unwanted particles. Walsr sample C contained clear wabsr,

He camed out the experimant in a dark room. Ha then used threo identical
{orches to shine through the water samples. The reading of the amauwnt of fight
passing through was recorded using a light sensor.

The rezusts wam shown i the tabla balow,

Water samples A B c
Amount of Hght that 710 537 400
passed through {ux)

Why did Paul set up his experiment in a dark room? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,343,139

Correctly answered feedback
This is so that the light detected by the light sources sensor comes only from the torch.

Incorrectly answered feedback
This is so that the light detected by the light sources sensor comes only from the torch.

Question 58 Primary 4 Science » Primary 4 Science (Term 4)
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Paul collecied some water samples from two ponds, A and B, Ha wanied fo find
out which pond has more polluted wader, Poliuled waler contains rmore
unwanted particles. Walsr sample C contained clear wabsr,

He camed out the experimant in a dark room. Ha then used threo identical
{orches to shine through the water samples. The reading of the amauwnt of fight
passing through was recorded using a light sensor.

The rezusts wam shown i the tabla balow,

Water samples A B c
Amount of Hght that 710 537 400
passed through {ux)

Based on Paul's experiment, choose the correct variables accordingly.
Match the options below:

Clue Match

The type of water samples used. Changed
Points: +0.5 =0

The amount of light that passed through the Measured
water.

Points: +0.5 =0

The amount of the water samples. Kept the same

Points: +0.5 =0

Location of the set-ups. Kept the same

Points: +0.5 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Wed 7th Jul 2021
Last Modified: N/A
QID#: 28,343,162
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